(FHM2F1AKERS: (1A208) 7>5—hMMaR]

1 SRR
SH2E1AERS
3 RS LR ¢ RS

4 TF>2U—hERUER

2 =RiEH

SH26E1/H208 (A) &x5# (s,

B1-1 &HREOFHD?

XER31E4RERS (48250) SO

B1-2 HREOHH?

F1-3 HRIEDOEE?

F2 #AB. SREThcEoNMFE?

=1=| FEEEER | R | EINER
1H20H(A) 2 1| 50.0%
5t 2 1| 50.0%
BIRIEE AEL | 1BRKLE |AEIEEER
20/m%Kii 0 0.0% 0
201K 0 0.0% 0
3068 0 0.0% 0
401% 0 0.0% 0
50f% 0 0.0% 0
60 £ 1{100.0% 1
REIZE 0 0.0% 0
5t 1{100.0% 1
EIRIEE AER | 1BRLE | RIOIEEiE
5% 1{100.0% 1
it 0 0.0% 0
ENEIE 0 0.0% 0
5t 1{100.0% 1
FEIRIEE AER | HBRKLE |AOEIEEER
SHE 0 0.0% 0
EI=ES 0 0.0% 0
Fi 0 0.0% 0
24 0 0.0% 0
Z At 1{100.0% 1
E NI 0 0.0% 0
5t 1{100.0% 1
BIRIEE AE AL | AEl iR
FERRIX 0 0.0% 0
EZHY-FEA 0 0.0% 0
BRILED 1{100.0% 1
R—=LR=2 0 0.0% 0
Z At 0 0.0% 0
ENEIE 0 0.0% 0
5 1{100.0% 1

e
RSB R

EiES)



F3 BEeZEHEBLEZER?

EIRIEE AER | 18BRLE | RIOIEEiE
B(1~5MmE) 0 0.0% 0
B(6~10[@) 1{100.0% 1
B(11EELLE) 0 0.0% 0
EHIHT) 0 0.0% 0
ENEIE 0 0.0% 0

5t 1{100.0% 1

B4 HOEARBCHT SEABFREL?

BIRIEE AE AL | AEl LR
KLTEE 0 0.0% 0
TEC 0 0.0% 0
BEDTERN O 1{100.0% 1
TERN o 0 0.0% 0
REIZE 0 0.0% 0

5t 1{100.0% 1

F5 SBABZIHIDVPISIZIEHICIE? (EHEE)
EIRIEE EIZEEL | milELE

IRA > NERD 1 1
ERIBEE R 0 0
REEERI DT 0 0
T DAt 0 0
REIE 0 0

Ell 1 1

B7 CARZESFEAMTURD? (EHEE)

BIRIEE EIEE | AXME |#IEIEEK

BRILED 1{100.0% 1
R—LR=2 0 0.0% 0
)N 0 0.0% 0
RiRER 0 0.0% 0
Z At 0 0.0% 0
ENEIE 0 0.0% 0

5 1 = 1




